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May 18, 2018

Dec 1­2:16 PM

May 18, 2018
1) answers WS #1­8

2) more practice

Test Thurs May 31
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Untitled.notebook

4

May 18, 2018
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May 18, 2018

Aug 8­11:35 AM

Combining Dynamics and Kinematics
Undergoing an acceleration a 750 kg car's 
velocity goes from 21 m/s [E] to 15 m/s [W] in 
7.5 s.
1. Calculate the average (net) force acting on 

the car. (­3600 N)
2. Calculate the final position of the car 

assuming the initial position is zero. (22.5 m)
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Apr 18­9:18 AM

Newtons 2nd Law Practice WS #9­17
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